dZ versus z for PXL All
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dX versus -z => beta for PXL All

dXvsZ

Entries

0.4
0.3
0.2
0.1
0
-0.1
-0.2
-0.3

-0.4

-0.5

Mean x

RMS x

Mean y 0.003409

1108
0.2815

6.396

0.156

IlllllllllllIIIIIIIIIIIIIIII'IIIIIIIIIIIIIIIIIII

Mu = -3844.90 +- 1212.89 (mkm) Sli"": ..........

Eooa b bvras oo b bvrn b by by s L

-20 15 10 -5 0 5 10 15 20

1

1gx_lbl_hft_ Runl13_MatchTree_0522PlotsNFP25rCut0.5cm.root

dyvsZ

-0.1
-0.2
-0.3
-0.4

-0.5

dY versus z => alpha for PXL Alt Entries

IIIIIIIIIIIII IIIII

H Mean y
"1 RMS x

1108
-0.2815

-0.004609

6.396

0.2501

oo lovra by bovr e b b v b e bvraa by

1

-20 -15 -10 -5 0 5 10 15 20

ngx_Ibl_hft_Runl3_MatchTree_0522PlotsNFP25rCut0.5cm.root



